
4C

1) 4(A + B + 3) = 4A + 4B + 12

2) S(X- Y + 6 + Z) = 5X - 5Y + 30 + 5Z

3) 3(20 - 4 + 3T + 7) '" 60 -12 + 9T + 21

4) 2(2X + 3Y - 5) = 4X + 6Y - 10

5) 15Y+ 30X '" 10, S(3Y + 6X) = 5(2)

m 120 + 6Y '" 15, 3(40 + 2Y) = 3(5)

7) 240 + 18Y '" 30, 6(40 + 3Y) = 6(5)

8) 36A-14B=10, 2(18A-7B) =2(5)

9) 3-9@ /4+12/

-6 /4+ 1 /

-6 < 5

10) 4X -16 = 24, 4(X - 4) = 4(6)
X -4 = 6, X = 10

11) 30 - 42Y = 18, 6(5 - 7Y) = 6(3)
5 - 7Y = 3, Y = 2f7

12) -24 + 56 = 160, 8(-3 + 7) = 8(20)
4=20, 0 =2

13) -36 = 72A + 45, 9(-4) = 9(8A + 5)
-4 = 8A + 5, A = -1 1/8

14) LCM = 100

15) 100(.2X) - 100(.03) = 100(.97)
20X - 3= 97
20X = 100, X = 5

16) 3, 4 = 2 X 2, 6= 2 X 3, so LCM = 2 X 2 X 3 = 12

3 3 4 1 2 5
17) ~ fi + (n) y 0 = ~ ~

9 +40= 10, 0= 1/4

18) LCM = 100

19) 100(-.7A) + 100(.8A) = 100(.12)
-70A + BOA= 12
10A=12, A=1.20rll/5

20) 18.9

41 75.6
4
35
32

36
36

4D

1) 3( A - B-2) = 3A - 3B - 6

2) 5(3A - 9 + 2A) = 15A - 45 + 10A

3) O(X + 3) = OX + 03, or OX + 30

4) -(-A - B + 2C) = A + B - 2C

5) 10X - 25Y = 40, 5(2X - 5Y) = 5(8)

6) 24A + 12B = 36, 12(2A + B) = 12(3)

7) -140 - 21D = -42, -7(20 + 3D) = -7(6)

8) 3X + 4XY = 7X, X( 3 + 4Y) = X(7)

9) 22X +33 = 44, 11(2X+3)=11(4)
2X + 3 = 4, X = 1/2

10) 70 -15 = 9 - 50, 70 + 50 = 9 + 15
120=24, 0=2

11) 30Y-l0=10, 10(3Y-1)=10(1)
3Y - 1 = 1, 3Y = 2, Y = 2/3

12) 56B - 49 = 28, 7(8B - 7) = 7(4)
8B - 7 = 4, 8B = 11, B = 1 3/8

13) LCM = 100

14) 100(.3X) -100(1.2) = 100(.34)
30X -120 = 34
30X=154, X=5.1"30r52/15

15) 4=2x2,6=2x3,10=2x5
so LCM = 2 x 2 x 3 x 5 = 60

15 3 10 1 6 7
16) (P6) - / + ~ )if R = (96) .w

-45 + 10R = 42, lOR = 87
R=8.7 or 87/10

75. gum balls

17) .051 3.75
'-.AJ '-..A../

35
25
25

1 25
18).4 =100 =,2.5. = 25%

40 2
19) 40%=,.1Q = 100 = "5

20) 125% = 1.25. = 125 = 1..2..
100 4

4E

1) -2(0 + 2R - 3E) = -20 - 4R + 6E

2) A2(3 + B) = 3A2 + A2B

3) -X(Y + 2 + M) = -XY - 2X - MX

4) -4(A2 + B2 + C2) = -4A2 - 4B2 - 4C2

5) 4A -16B = -18, 2(2A - 8B) = 2(-9)

6) 20A - 40D = 100, 20(A - 2D) = 20(5)

7) 60 + 12G= 3, 3(20 + 4G) = 3(1)

8) -5A -15T = -20, -5(R + 3T) = -5(4)

5 4 5
9) E3 x -1- .;.-2- =

Z 4 Z 4 1
----:iT x -1- X T = -3- = 1-3-
3

10) -8 = -10C - 14, -2(4) = -2(5C + 7)
4 = 5C + 7, -3 = 5C, -3/5 = C

11) 15=-45M-30, 15(1)=15(-3M-2)
1 =-3M-2, 3=-3M, -1 =M

12) 40 + 64 = 48N, 8(5 + 8) = 8(6N)
13=6N,21/6=N

13) 63=35-7P=7(9)=7(5-P)
9=5-P, -4=P

14) LCM = 1000

15) 1000(.5Y) - 1000(.3) = 1000(.002)
500Y - 300 = 2
500Y = 302, Y=.604 or 151/250

16) 3 = 3, 4 = 2 x 2, 12 = 2 x 2 x 3,
so LCM = 2 x 2 x 3 = 12

4 11 1 5 3 5
17) ~-+ ~-K = (J-Zl--,% fi ..K

44+5K=-15, 5K=-59, K=-114/5

3 75
18) ""4 = 100 = .75 = ~%

20 1
19) 20%=2Q = 100 = ""5

380 4
20) 380% =;2Jill = 100 = 35

5A

1) (-2,3)

2) 2

3) (-4, -2)

4) 3

5) (2, -2)

6) 4

7) (2,3)

8) 1

9) (-1, -5)

10) 3

11) on graph

12) 2

13) on graph

14) 1

1.5) on graph

16) 4

17) geometrically

18) positive, negative

19) the same X coordinate

Y H
F

J

X

20) X,5

21) ••• I I ii, I i I i I I"
·5 ·4 -3 ·2 ·1 0 1 2 3 4 5

22) ••• I I I I I i I I i I I"
~ ~ ~ ~ ~ 0 1 2 3 4 5

23) ••• I I I I I i I I I I I"
~ ~ ~ ~ ~ 0 1 2 3 4 5

(J)
Q.
S.
o·
::l
(f)

b24) • 1 I J I I I I I I I I •.
~ ~ ~ ~ ~ 0 1 2 3 4 5

CJ1
}>
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1) (2,3)

2) 1

3) (-1, -3)

4) 3

5) (2, -2)

6) 4

7) (-2,1)

8) 2

9) (5, -5)

10) 4

11) on graph

12) 3

13) on graph

14)

15) on graph

16) 4

17) (0,0)

18) negative, negative

19) the same Y coordinate

20) Y,-2

Y

R

Q S
x

21) •• I I 10I I I I I I I I"
-5 -4 -3 -2 -1 a 1 2 3 4 5

22).. I I I I I I 1.1 I I I •
-5 -4 -3 -2 -1 a 1 2 3 4 5

23) •• I I I I I I I I I ~ I •••
~ -4 ~ ~ ~ a 1 234 5

24) ••• I I I I I I I I I ¢ I •
~ -4 ~ ~ ~ 0 1 234 5

5C

1) (5,4)

2) (2,6)

3) (-2,1)

4) see Waph

5) see graph

6) see graph

7) Descartes

r I ~ J ~

F XI~

D.-
E~

8) positive, po

9) Y, X

10) o~igin

11) 100(.05Xj +
5X + 12X =

1~) -72 + 8Y = 3
8Y = 104,

13) 7(-B+2+7
7(-B+8)=
43 = 15B,

14) -4(P-6)+2
-4P + 24 + 2
-2P + 24 = 8

15) 3 = 3, 4 = 2 x
so LCM = 2

12 18
(JM) - -

7'
216 - 21Q =

16) 100(.3X) - 1
30X - 6X = 1
X = 5 5/24 0

17) 116
/"-
2 58

/"-
2

2 x 2 x 29

19) B +A

20) A + (B + C)

5D

1) (-3, -1)

2) (0, -4)

3) (-4,2)

4) see graph

5) see graph

6) see graph

7) cartesian

8) negative, positive

9) same X coordinate

Y

10) X,3

11) 10(-1.3) + 10(2.7) = 10(.2Y)
-13+27=2Y, 14=2Y, 7='y

12) 17Q - 14XQ = l1Q
Q(17 - 14X) = Q(ll)
17-14X=11, -14X=-6, X =3/7_

13) D(3-7)-12=0
3D -7D -12 = 0
-4D = 12, D =-3

14) (6279) x 2 - 9Y = 8(Y - 4 + 9)
(36 7 9) x 2 - 9Y = 8(Y + 5)
4 x 2 - 9Y = 8Y + 40
8 - 9Y = 8Y + 40, -32 = 17Y, -1 15/17 = Y

15) 2=2,4=2x2, 7=7,
so LCM = 2 x 2 x 7 = 28

14 9 7 5 4 17
(P8) ..z = (P6) Y R + (P8) ;r
126 = 35R + 68, R = 1 23/35

16) 100(_35P) + 100(3.2) = 100(-4P)
35P + 320 = -400P
435P = -320, P = -.74 (rounded) or -64/87

75 3
17) 75% = n = 100 = "4

113 13
18) 113% =~ = 100 = 1100

19) ~ _ 40
5 - 100 = .40 = ~%

20) AB + AB

X

5E

1) (3,3)

2) (4, -2)

3) (-5,5)

4) see graph

5) see graph

X

y

E

F
)

D
6) see graph

7) analytic

8) negative, negative

9) same X coordinate

10) X,-2

11) 100(1.08V) = 100(.7) -100(.24)
108V = 70 -24, 108V = 46,
V = .43 (rounded) or V = 23/54

12) 9X2M = 10X2 -19X2
X2(9M) = X2(10-19), 9M = -9, M =-1

13) (11-4)277- 13-91=14(R+3R-2R+1)
72 77 - 1-61= 14(2R + 1)
4977 - 6=28R + 14
1 = 28R + 14, -13 = 28R, R = -13/28

14) 6 [8 - (Y + 4) ] = 3 [ (10+ 1)2 - (7 - 5 + 4)
6 [8- Y -4]=3 [112.6]
24-6Y=345, -6Y=321, Y=-531/2

15) 2 = 2, 7 = 7, 8 = 2 x 2 x 2
so LCM = 2 x 2 x 2 x 7 = 56

7 25 8 11 2~~~ 3
(P6"j - ~- = y>tlJ - 0y ;r 7'
175-88 = 84D, D= 13/84= 11/28

16) 1000(-1.203H) + 1000(.9) = 1000(-.6)
-1203H + 900= -600, -1203H = -1500
H = 1 297/1203 or 1.25 (rounded)

.1250r.13
17) 8 f1.OOO

8
20
16

40
40

.666 or .67

18) 312.000
18

20
18

20
18

(f)
Q.
S-
o·
:::J
C/)

(J1
OJ

.6
19) 5[3.0

30

.22 or .22

20) 912.00
18

20
18

(J1
m


